

## PARTIAL SUMS OF NORMALIZED DINI FUNCTIONS

İBRAHİM AKTAŞ AND HALİT ORHAN

*Abstract.* Some lower bounds are proposed for the quotients of normalized Dini functions and their partial sum, as well as for the quotients of the derivative of normalized Dini functions and their partial sums. Our study is motivated by some earlier results one similar lower bounds for quotients of convex univalent functions and their partial sum.

### 1. Introduction

Special functions, like Bessel functions, play an important role in applied mathematics and physics. Because of their remarkable properties the Bessel functions have been studied by many scientists. The Bessel function of the first kind  $J_\nu$  is defined by (see [2] and [12])

$$J_\nu(z) = \sum_{n \geq 0} \frac{(-1)^n}{n! \Gamma(\nu + n + 1)} \left(\frac{z}{2}\right)^{2n+\nu}, \quad (1)$$

where  $\Gamma$  stands for Euler gamma function, and it is a particular solution of the second-order linear homogeneous differential equation

$$z^2 y''(z) + z y'(z) + (z^2 - \nu^2) y(z) = 0, \quad (2)$$

where  $\nu \in \mathbb{C}$ .

In this paper, we consider the normalized Dini function  $w_{\alpha, \nu} : \mathbb{D} = \{z \in \mathbb{C} : |z| < 1\} \rightarrow \mathbb{C}$ , defined by (see [4])

$$\begin{aligned} w_{\alpha, \nu}(z) &= \frac{2^\nu}{\alpha} \Gamma(\nu + 1) z^{1-\frac{\nu}{2}} ((\alpha - \nu) J_\nu(\sqrt{z}) + \sqrt{z} J'_\nu(\sqrt{z})) \\ &= \sum_{n \geq 0} \frac{(-1)^n (2n + \alpha) \Gamma(\nu + 1) z^{n+1}}{\alpha 4^n n! \Gamma(\nu + n + 1)} \\ &= \sum_{n \geq 0} \frac{(-1)^n (2n + \alpha)}{\alpha 4^n n! (\nu + 1)_n} z^{n+1}, \end{aligned} \quad (3)$$

where  $(\mu)_n = \frac{\Gamma(\mu+n)}{\Gamma(\mu)} = \mu(\mu+1)\dots(\mu+n-1)$  stands for the Pochhammer symbol. Motivated by the papers of Silverman [10] and Silvia [11] in this paper we investigate the ratio of a function of the form (3) to its sequence of partial sums  $(w_{\alpha, \nu}(z))_m =$

*Mathematics subject classification* (2010): 33C10, 30C45.

*Keywords and phrases:* Dini functions, Bessel function, partial sum, convex functions, trigonometric function.

$z + \sum_{n=1}^m a_n z^{n+1}$  when the coefficients of  $w_{\alpha, \nu}$  satisfy some conditions. We will obtain some lower bounds for

$$\Re \left[ \frac{w_{\alpha, \nu}(z)}{(w_{\alpha, \nu})_m(z)} \right], \quad \Re \left[ \frac{(w_{\alpha, \nu})_m(z)}{w_{\alpha, \nu}(z)} \right], \quad \Re \left[ \frac{w'_{\alpha, \nu}(z)}{(w_{\alpha, \nu})'_m(z)} \right] \quad \text{and} \quad \Re \left[ \frac{(w_{\alpha, \nu})'_m(z)}{w'_{\alpha, \nu}(z)} \right].$$

For interesting developments on the partial sums of some special functions and some classes of analytic functions, the readers can refer to the works of Sheil-Small [9], Brickman et al. [5], Silvia [11], Silverman [10], Owa et al. [8], Orhan and Yağmur [7], Çağlar and Deniz [6], Aktaş and Orhan [1].

The next result is a preliminary one, which will be used in the proof of the main results.

LEMMA 1. *If  $\alpha > 0$  and  $\nu > -\frac{7}{8}$ , then the function*

$$w_{\alpha, \nu} : \mathbb{D} \rightarrow \mathbb{C},$$

given by (3), satisfies the following inequalities:

$$|w_{\alpha, \nu}(z)| \leq 1 + \frac{2(16\nu + 8\alpha\nu + 7\alpha + 16)}{(8\nu + 7)^2 \alpha}, \tag{4}$$

$$\left| w'_{\alpha, \nu}(z) \right| \leq 1 + \frac{256(2 + \alpha)\nu^2 + 16(64 + 29\alpha)\nu + 210\alpha + 512}{(8\nu + 7)^3 \alpha}. \tag{5}$$

*Proof.* By using the well-known triangle inequality:

$$|z_1 + z_2| \leq |z_1| + |z_2| \tag{6}$$

and the inequalities

$$(\nu + 1)^n \leq (\nu + 1)_n \quad \text{and} \quad 2^{n-1} \leq n! \tag{7}$$

for  $n \in \mathbb{N} = \{1, 2, \dots\}$ , we get

$$\begin{aligned} |w_{\alpha, \nu}(z)| &= \left| z + \sum_{n \geq 1} \frac{(-1)^n (2n + \alpha)}{\alpha 4^n n! (\nu + 1)_n} z^{n+1} \right| \leq 1 + \sum_{n \geq 1} \frac{2n + \alpha}{\alpha 4^n 2^{n-1} (\nu + 1)^n} \\ &= 1 + \frac{1}{2\alpha(\nu + 1)} \sum_{n \geq 1} \frac{n}{(8(\nu + 1))^{n-1}} + \frac{1}{4(\nu + 1)} \sum_{n \geq 1} \left( \frac{1}{8(\nu + 1)} \right)^{n-1} \\ &= 1 + \frac{2(16\nu + 8\alpha\nu + 7\alpha + 16)}{(8\nu + 7)^2 \alpha}. \end{aligned}$$

If we consider the inequality (5), then we have

$$\begin{aligned} |w'_{\alpha, \nu}(z)| &= \left| 1 + \sum_{n \geq 1} \frac{(-1)^n (2n + \alpha) (n + 1)}{\alpha 4^n n! (\nu + 1)_n} z^n \right| \leq 1 + \sum_{n \geq 1} \frac{2n^2 + (2 + \alpha)n + \alpha}{\alpha 4^n 2^{n-1} (\nu + 1)^n} \\ &= 1 + \frac{1}{(\nu + 1)} \left[ \frac{1}{2\alpha} \sum_{n \geq 1} \frac{n^2}{(8(\nu + 1))^{n-1}} + \frac{(2 + \alpha)}{4\alpha} \sum_{n \geq 1} \frac{n}{(8(\nu + 1))^{n-1}} \right] \\ &\quad + \frac{1}{4(\nu + 1)} \sum_{n \geq 1} \left( \frac{1}{8(\nu + 1)} \right)^{n-1} \\ &= 1 + \frac{256(2 + \alpha)\nu^2 + 16(64 + 29\alpha)\nu + 210\alpha + 512}{(8\nu + 7)^3 \alpha}. \quad \square \end{aligned}$$

### 2. Lower bounds for quotients of Dini function and its partial sum

Our first main result is the following theorem.

**THEOREM 1.** *Let  $\alpha > 0$ ,  $\nu > -\frac{7}{8}$ , the function  $w_{\alpha, \nu} : \mathbb{D} \rightarrow \mathbb{C}$  be defined by (3) and its sequence of partial sums by  $(w_{\alpha, \nu}(z))_m = z + \sum_{n=1}^m a_n z^{n+1}$ , where  $a_n = \frac{(-1)^n (2n + \alpha)}{\alpha 4^n n! (\nu + 1)_n}$ . If the inequality*

$$64\alpha\nu^2 + 96\alpha\nu + 35\alpha - 32\nu - 32 \geq 0$$

is valid, then we have the followings:

$$\Re \left[ \frac{w_{\alpha, \nu}(z)}{(w_{\alpha, \nu})_m(z)} \right] \geq \frac{64\alpha\nu^2 + 32(3\alpha - 1)\nu + 35\alpha - 32}{(8\nu + 7)^2 \alpha}, \tag{8}$$

$$\Re \left[ \frac{(w_{\alpha, \nu})_m(z)}{w_{\alpha, \nu}(z)} \right] \geq \frac{(8\nu + 7)^2 \alpha}{64\alpha\nu^2 + 32(4\alpha + 1)\nu + 63\alpha + 32}. \tag{9}$$

*Proof.* From the inequality (4) in case  $z = -1$  we get that

$$1 + \sum_{n \geq 1} |a_n| \leq 1 + \frac{2(16\nu + 8\alpha\nu + 7\alpha + 16)}{(8\nu + 7)^2 \alpha},$$

which is equivalent to

$$\frac{(8\nu + 7)^2 \alpha}{2(16\nu + 8\alpha\nu + 7\alpha + 16)} \sum_{n \geq 1} |a_n| \leq 1.$$

Now, we write

$$\begin{aligned} & \frac{(8v+7)^2\alpha}{2(16v+8\alpha v+7\alpha+16)} \left[ \frac{w_{\alpha,v}(z)}{(w_{\alpha,v})_m(z)} - \left( 1 - \frac{2(16v+8\alpha v+7\alpha+16)}{(8v+7)^2\alpha} \right) \right] \\ &= \frac{1 + \sum_{n=1}^m a_n z^n + \frac{(8v+7)^2\alpha}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq m+1} a_n z^n}{1 + \sum_{n=1}^m a_n z^n} = \frac{1+A(z)}{1+B(z)}. \end{aligned} \quad (10)$$

Set

$$\frac{1+A(z)}{1+B(z)} = \frac{1+p(z)}{1-p(z)}$$

so that

$$p(z) = \frac{A(z) - B(z)}{2 + A(z) + B(z)}.$$

The inequality  $|p(z)| \leq 1$  implies (8). Then

$$p(z) = \frac{\frac{(8v+7)^2\alpha}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq m+1} a_n z^n}{2 + 2 \sum_{n=1}^m a_n z^n + \frac{(8v+7)^2\alpha}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq m+1} a_n z^n}$$

and

$$|p(z)| \leq \frac{\frac{(8v+7)^2\alpha}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq m+1} |a_n|}{2 - 2 \sum_{n=1}^m |a_n| - \frac{(8v+7)^2\alpha}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq m+1} |a_n|}.$$

The inequality

$$\sum_{n=1}^m |a_n| + \frac{(8v+7)^2\alpha}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq m+1} |a_n| \leq 1 \quad (11)$$

implies that  $|p(z)| \leq 1$ . It suffices to show that the left hand side of (11) is bounded above by

$$\frac{(8v+7)^2\alpha}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq 1} |a_n|,$$

which is equivalent to

$$\frac{64\alpha v^2 + 32(3\alpha - 1)v + 35\alpha - 32}{2(16v+8\alpha v+7\alpha+16)} \sum_{n=1}^m |a_n| \geq 0.$$

To prove the result (9), we write

$$\begin{aligned} & \left( \frac{(8v+7)^2 \alpha}{2(16v+8\alpha v+7\alpha+16)} + 1 \right) \left[ \frac{(w_{\alpha,v})_m(z)}{w_{\alpha,v}(z)} - \frac{(8v+7)^2 \alpha}{64\alpha v^2+32(4\alpha+1)v+63\alpha+32} \right] \\ &= \frac{1 + \sum_{n=1}^m a_n z^n - \frac{(8v+7)^2 \alpha}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq m+1} a_n z^n}{1 + \sum_{n \geq 1} a_n z^n} = \frac{1 + p(z)}{1 - p(z)}. \end{aligned} \tag{12}$$

Then from (12) we get

$$p(z) = \frac{-\frac{64\alpha v^2+32(4\alpha+1)v+63\alpha+32}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq m+1} a_n z^n}{2 + 2 \sum_{n=1}^m a_n z^n - \frac{64\alpha v^2+32(3\alpha-1)v+35\alpha-32}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq m+1} a_n z^n}$$

and

$$|p(z)| \leq \frac{\frac{64\alpha v^2+32(4\alpha+1)v+63\alpha+32}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq m+1} |a_n|}{2 - 2 \sum_{n=1}^m |a_n| - \frac{64\alpha v^2+32(3\alpha-1)v+35\alpha-32}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq m+1} |a_n|}.$$

The inequality

$$\sum_{n=1}^m |a_n| + \frac{(8v+7)^2 \alpha}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq m+1} |a_n| \leq 1 \tag{13}$$

implies that  $|p(z)| \leq 1$ . Since the left hand side of (13) is bounded above by

$$\frac{(8v+7)^2 \alpha}{2(16v+8\alpha v+7\alpha+16)} \sum_{n \geq 1} |a_n|$$

the proof is completed.  $\square$

The next result is analogous to our first main result.

**THEOREM 2.** *Let  $\alpha > 0$ ,  $v > -\frac{7}{8}$ , the function  $w_{\alpha,v} : \mathbb{D} \rightarrow \mathbb{C}$  be defined by (3) and its sequence of partial sums by  $(w_{\alpha,v}(z))_m = z + \sum_{n=1}^m a_n z^{n+1}$ . If the inequality*

$$512\alpha v^3 + 64(17\alpha - 8)v^2 + 8(89\alpha - 128)v + 133\alpha - 512 \geq 0$$

is valid, then we have the followings:

$$\Re \left[ \frac{w'_{\alpha,v}(z)}{(w_{\alpha,v})'_m(z)} \right] \geq \frac{512\alpha v^3 + 64(17\alpha - 8)v^2 + 8(89\alpha - 128)v + 133\alpha - 512}{256(2 + \alpha)v^2 + 16(64 + 29\alpha)v + 210\alpha + 512}, \tag{14}$$

$$\Re \left[ \frac{(w_{\alpha,v})'_m(z)}{w'_{\alpha,v}(z)} \right] \geq \frac{(8v+7)^3 \alpha}{512\alpha v^3 + 64(25\alpha + 8)v^2 + 8(205\alpha + 128)v + 553\alpha + 512}. \tag{15}$$

*Proof.* From the inequality (5) in Lemma 1 we write that

$$1 + \sum_{n \geq 1} (n+1) |a_n| \leq 1 + \frac{1}{\delta},$$

which is equivalent to

$$\delta \cdot \sum_{n \geq 1} (n+1) |a_n| \leq 1,$$

where

$$\delta = \frac{(8v+7)^3 \alpha}{256(2+\alpha)v^2 + 16(64+29\alpha)v + 210\alpha + 512}.$$

Now, we write

$$\begin{aligned} & \delta \cdot \left[ \frac{w'_{\alpha,v}(z)}{(w_{\alpha,v})'_m(z)} - \left(1 - \frac{1}{\delta}\right) \right] \\ &= \frac{1 + \sum_{n=1}^m (n+1) a_n z^n + \delta \sum_{n \geq m+1} (n+1) a_n z^n}{1 + \sum_{n=1}^m (n+1) a_n z^n} = \frac{1+p(z)}{1-p(z)}, \end{aligned}$$

where

$$|p(z)| \leq \frac{\delta \cdot \sum_{n \geq m+1} (n+1) |a_n|}{2 - 2 \sum_{n=1}^m (n+1) |a_n| - \delta \cdot \sum_{n \geq m+1} (n+1) |a_n|} \leq 1.$$

The last inequality is equivalent to

$$\sum_{n=1}^m (n+1) |a_n| + \delta \cdot \sum_{n \geq m+1} (n+1) |a_n| \leq 1. \quad (16)$$

It suffices to show that the left hand side of (16) is bounded above by

$$\delta \cdot \sum_{n \geq 1} (n+1) |a_n|,$$

which is equivalent to

$$\frac{512\alpha v^3 + 64(17\alpha - 8)v^2 + 8(89\alpha - 128)v + 133\alpha - 512}{256(2+\alpha)v^2 + 16(64+29\alpha)v + 210\alpha + 512} \sum_{n=1}^m (n+1) |a_n| \geq 0.$$

To prove the result (15), we write

$$\begin{aligned} & \frac{1+p(z)}{1-p(z)} \\ &= (\delta+1) \cdot \left[ \frac{(w_{\alpha,\nu})'_m(z)}{w'_{\alpha,\nu}(z)} - \frac{(8\nu+7)^3 \alpha}{512\alpha\nu^3+64(25\alpha+8)\nu^2+8(205\alpha+128)\nu+553\alpha+512} \right] \\ &= \frac{1 + \sum_{n=1}^m (n+1)a_n z^n - \delta \cdot \sum_{n \geq m+1} (n+1)a_n z^n}{1 + \sum_{n \geq 1} (n+1)a_n z^n} \end{aligned}$$

where

$$\begin{aligned} |p(z)| &\leq \frac{\frac{512\alpha\nu^3+64(25\alpha+8)\nu^2+8(205\alpha+128)\nu+553\alpha+512}{256(2+\alpha)\nu^2+16(64+29\alpha)\nu+210\alpha+512} \sum_{n \geq m+1} (n+1)|a_n|}{2-2 \sum_{n=1}^m (n+1)|a_n| - \frac{512\alpha\nu^3+64(17\alpha-8)\nu^2+8(89\alpha-128)\nu+133\alpha-512}{256(2+\alpha)\nu^2+16(64+29\alpha)\nu+210\alpha+512} \sum_{n \geq m+1} (n+1)|a_n|} \\ &\leq 1. \end{aligned}$$

The last inequality is equivalent to

$$\sum_{n=1}^m (n+1)|a_n| + \delta \cdot \sum_{n \geq m+1} (n+1)|a_n| \leq 1. \tag{17}$$

Since the left hand side of (17) is bounded above by  $\delta \cdot \sum_{n \geq 1} (n+1)|a_n|$ , the proof is completed.  $\square$

For some special cases of  $\nu$  it is known that (see [3])

$$J_{\frac{1}{2}}(z) = \sqrt{\frac{2}{\pi z}} \sin z$$

and

$$J_{\frac{3}{2}}(z) = \sqrt{\frac{2}{\pi z}} \left( \frac{\sin z}{z} - \cos z \right).$$

By using some special cases of  $\alpha$  and  $\nu$  in Theorem 1 and Theorem 2, we can obtain the following corollaries:

**a.** If we take  $\alpha = 1$ ,  $\nu = \frac{1}{2}$  and  $m = 0$ , we have

$$\begin{aligned} w_{1,\frac{1}{2}}(z) &= \frac{\sqrt{z}}{2} \{ \sin \sqrt{z} + \cos \sqrt{z} \} - \frac{\sin \sqrt{z}}{4}, \\ w'_{1,\frac{1}{2}}(z) &= \frac{1}{4\sqrt{z}} \left\{ (1 - \sqrt{z}) \sin \sqrt{z} + \frac{(1 + 2\sqrt{z}) \cos \sqrt{z}}{2} \right\}, \end{aligned}$$

$$\left(w_{1, \frac{1}{2}}\right)_0(z) = z \quad \text{and} \quad \left(w_{1, \frac{1}{2}}\right)'_0(z) = 1.$$

In view of Theorem 1 we get the following inequalities:

$$\Re \left[ \frac{1}{2\sqrt{z}} (\sin\sqrt{z} + \cos\sqrt{z}) - \frac{\sin\sqrt{z}}{4z} \right] \geq \frac{51}{121},$$

$$\Re \left[ \frac{4z}{(2\sqrt{z}-1)\sin\sqrt{z} + 2\sqrt{z}\cos\sqrt{z}} \right] \geq \frac{121}{191}.$$

b. If we take  $\alpha = \frac{3}{2}$ ,  $\nu = \frac{1}{2}$  and  $m = 0$ , we have

$$w_{\frac{3}{2}, \frac{1}{2}}(z) = \frac{\sqrt{z}}{3} (2\sin\sqrt{z} + \cos\sqrt{z}) - \frac{\sin\sqrt{z}}{6},$$

$$w'_{\frac{3}{2}, \frac{1}{2}}(z) = \frac{4\sin\sqrt{z} + \cos\sqrt{z}}{12\sqrt{z}} + \frac{2\cos\sqrt{z} - \sin\sqrt{z}}{6},$$

$$\left(w_{\frac{3}{2}, \frac{1}{2}}\right)_0(z) = z \quad \text{and} \quad \left(w_{\frac{3}{2}, \frac{1}{2}}\right)'_0(z) = 1.$$

In view of Theorem 2 we get the following inequalities:

$$\Re \left[ \frac{4\sin\sqrt{z} + \cos\sqrt{z}}{12\sqrt{z}} + \frac{2\cos\sqrt{z} - \sin\sqrt{z}}{6} \right] \geq \frac{57}{1274},$$

$$\Re \left[ \frac{12\sqrt{z}}{(4\sqrt{z}+1)\cos\sqrt{z} - 2(\sqrt{z}-2)\sin\sqrt{z}} \right] \geq \frac{1331}{2605}.$$

c. If we take  $\alpha = 5$ ,  $\nu = \frac{3}{2}$  and  $m = 0$ , we have

$$w_{5, \frac{3}{2}}(z) = \frac{21}{10} \left( \frac{\sin\sqrt{z}}{\sqrt{z}} - \cos\sqrt{z} \right) + \frac{9}{20} \left( \frac{\cos\sqrt{z}}{\sqrt{z}} - \frac{\sin\sqrt{z}}{z} \right) + \frac{3}{10} \sin\sqrt{z},$$

$$w'_{5, \frac{3}{2}}(z) = \frac{21}{20} \left( \frac{\cos\sqrt{z}}{z} - \frac{\sin\sqrt{z}}{z\sqrt{z}} + \frac{\sin\sqrt{z}}{\sqrt{z}} \right) + \frac{9}{20} \left( \frac{\sin\sqrt{z}}{z^2} - \frac{\cos\sqrt{z}}{z\sqrt{z}} \right) - \frac{9}{40} \frac{\sin\sqrt{z}}{z} + \frac{3}{20} \frac{\cos\sqrt{z}}{\sqrt{z}},$$

$$\left(w_{5, \frac{3}{2}}\right)_0(z) = z \quad \text{and} \quad \left(w_{5, \frac{3}{2}}\right)'_0(z) = 1.$$

In view of Theorem 1 we get the following inequalities:

$$\Re \left[ \frac{14z(\sin\sqrt{z} - \sqrt{z}\cos\sqrt{z}) + (2z-3)\sqrt{z}\sin\sqrt{z} + 3z\cos\sqrt{z}}{z^{5/2}} \right] \geq \frac{307}{361},$$

$$\Re \left[ \frac{z^{5/2}}{14z(\sin\sqrt{z} - \sqrt{z}\cos\sqrt{z}) + (2z-3)\sqrt{z}\sin\sqrt{z} + 3z\cos\sqrt{z}} \right] \geq \frac{361}{415}.$$



## REFERENCES

- [1] İ. AKTAŞ, H. ORHAN, *Distortion bounds for a new subclass of analytic functions and their partial sums*, Bull. Transilv. Univ. Braşov Ser. III, **8** **57**, 2 (2015), 1–12.
- [2] Á. BARICZ, *Geometric properties of generalised Bessel function*, Publ. Math. Debrecen, **73**, 1–2 (2008), 155–178.
- [3] Á. BARICZ, *Generalized Bessel Functions of the First Kind*, Lecture Notes in Mathematics, vol. 1994, Berlin, Springer-Verlag, 2010.
- [4] Á. BARICZ, E. DENİZ, N. YAĞMUR, *Close-to-convexity of normalized Dini functions*, Math. Nachr. **289**, 14–15 (2016), 1721–1726.
- [5] L. BRICKMAN, D. J. HALLENBECK, T. H. MACGRAGOR, D. WILKEN, *Convex hulls and extreme points of families of starlike and convex mappings*, Trans. Amer. Math. Soc. **185** (1973), 413–428.
- [6] M. ÇAĞLAR, E. DENİZ, *Partial sums of the normalized Lommel functions*, Math. Inequal. Appl. **18**, 3 (2015), 1189–1199.
- [7] H. ORHAN, N. YAĞMUR, *Partial sums of Generalized Bessel Functions*, J. Math. Inequal. **8**, 4 (2014), 863–877.
- [8] S. OWA, H. M. SRIVASTAVA, N. SAITO, *Partial sums of certain classes of analytic functions*, Int. J. Comput. Math. **81**, 10 (2004), 1239–1256.
- [9] T. SHEIL-SMALL, *A note on partial sums of convex schlicht functions*, Bull. London Math. Soc. **2**, (1970), 165–168.
- [10] H. SILVERMAN, *Partial sums of starlike and convex functions*, J. Math. Anal. Appl. **209**, (1997), 221–227.
- [11] E. M. SILVIA, *On partial sums of convex functions of order  $\alpha$* . Houston J. Math., **11**, (1985), 397–404.
- [12] G. N. WATSON, *A Treatise on the Theory of Bessel Functions*, second edition, London and New York, Cambridge University Press, 1944.

(Received August 17, 2016)

İbrahim Aktaş  
 Department of Mathematical Engineering  
 Faculty of Engineering and Natural Sciences  
 Gümüşhane University  
 Gümüşhane 29100, Turkey  
 e-mail: aktasibrahim38@gmail.com

Halit Orhan  
 Department of Mathematics  
 Faculty of Science, Atatürk University  
 Erzurum, 25240, Turkey  
 e-mail: orhanhalit607@gmail.com